* PUZZLE OF THE WEEK *

SOLUTION

Fireworks Galore!

Each firework, A through F, has 6 stars. Which firework has not been launched, knowing that
each firework gives off 1, 2, or 3 stars of the corresponding colour. For example, in Firework A
there is 1 green star, 2 red stars, and 3 blue stars.

Firework C has not been launched yet!

Be sure to check the next newsletter to see the solution! If you have questions about or
suggestions for the puzzle of the week, let Ms. Rush know!

Special thanks to rd.com for the puzzle
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